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APTITUDE QUIZ 
Q1. A man goes to a place on bicycle at speed of 16 kmph and 
comes back with another speed. If the average speed of the whole 
journey is 6.4 kmph, then find the speed of return journey. 
(a) 4 kmph 
(b) 6 kmph 
(c) 7 kmph 
(d) 7.5 kmph 
(e) 3 kmph 
 

Q2. The average of one hundred observations was calculated as 35. 
It was found later, that one of the observation was read as 83 
instead of 53. What is the correct average? 
(a) 33.7 
(b) 34.2 
(c) 34.7 
(d) 34.8 
(e) None of these 
 
Q3. Two barrels contain a mixture of ethanol and gasoline. The 

content of ethanol is 60% in the first barrel and 30% in the second 
barrel. In what ratio must the mixtures from the first and the 
second barrels be taken to form a mixture so that new mixture 
contain 50% ethanol? 
(a) 1 : 2 
(b) 2 : 1 
(c) 3 : 2 
(d) 5 : 3 
(e) 7: 5 
 

Q4. The ratio of two numbers is 3/2:8/3. If each of the number is 
increased by 15 the ratio becomes 5/3:5/2. Find the bigger 
number.  
(a) 27 
(b) 36 
(c) 48 
(d) 64 
(e) 72 
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Q5. First type of liquid contains 25% of milk, the other second type 

of liquid contains 30% of milk. A container is filled with 6 liters of 
the first liquid and 4 liters of the second liquid. The percentage of 
milk in the mixture is: 
(a) 27% 
(b) 31% 
(c) 29% 
(d) 33% 
(e) 37% 
 
Q6. A, B, and C have amounts in the ratio of 3 : 4 : 5. First B gives 

1/4th to A and 1/4th to C then C gives 1/6 th to A. Find the final 
ratio of amount of A, B and C, respectively:  
(a) 4 : 3 : 5 
(b) 5 : 4 : 3 
(c) 6 : 4 : 2 
(d) 5 : 2 : 5 
(e) 7: 3: 5 
 
Q7. Average of marks obtained by Ram in 4 different subjects was 
75. But later it was found that marks of two subjects were written 

incorrectly as 69 and 86 in place of 96 and 68 respectively. Find the 
correct average of marks? 
(a) 85.50 
(b) 82 
(c) 77.25 
(d) 72.25 
(e) 73.75 
 
Q8. Amit spends 75% of his income. If his income was increased by 
20% and he increased his expenditure by 10%, by how much 
percent his saving increased? 
(a) 25% 
(b) 30% 
(c) 35% 
(d) 50% 
(e) 60% 
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Q9. A sum was distributed among A, B, C in the ratio of 2 : 5 : 9. If 

part of A was 2500 rupee, what is the total sum? 
(a) Rs. 20000 
(b) Rs. 25000 
(c) Rs. 22000 
(d) Rs. 15000 
(e) Rs. 18000 
 
Q10. A, B and C start a business together by investing a total 
amount of Rs. 50000. Sum of A is Rs. 4000 more than that of B and 
sum of B is Rs. 5000 more than that of C. If total profit at the end of 

a year was found to be Rs. 35000, what is the share of A in the 
profit? 
(a) Rs. 11900 
(b) Rs. 14700 
(c) Rs. 13600 
(d) Rs. 8470 
(e) None of these 
 
Q11. Three persons A, B and C enter into a business with their 
initial capital of Rs. 15,000. Rs. 12000 and Rs. 18000 respectively. 

After 6 months, C withdrew 6000 and B invests an additional 
amount of 3000. After a year total profit is Rs. 6,670. Find what is 
the share of B in the profit? 
(a) Rs. 2,250 
(b) Rs. 2,007 
(c) Rs. 2,150 
(d) Rs. 2,070 
(e) None of these 
 
Q12. If the numerator of a fraction is increased by 20% and 
denominator is reduced by 30%, the new fraction thus formed is 
8/21. Find the original fraction 
(a) 2/9 
(b) 4/9 
(c) 5/9 
(d) 9/2 
(e) None of these 
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Q13. The average of seven numbers is 21. If the average of first 

three numbers is 19 and that of last three numbers is 20, what is 
the fourth number from starting? 
(a) 35 
(b) 32 
(c) 30 
(d) 40 
(e) 41 
 
Q14. Two persons X and Y enter into a business by investing their 
sum in the ratio of 5 : 6. After 8 months, X leaves the business. 

After a year, if total profit is Rs. 1260, what is the profit of X? 
(a) Rs.445 
(b) Rs.450 
(c) Rs.440 
(d) Rs.460 
(e) Rs.480 
 
Q15. The average age of 32 persons is 20 years. Due to entry of 2 
more persons, the average age increases by 1 year. Find the 
average age of two new persons. 

(a) 35 years 
(b) 34 years 
(c) 37 years 
(d) 33 years 
(e) 22 years 
 
 

ANSWERS  

1. a 

2. c  

3. b  

4. c  

5. a 

6. d  
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7. c  

8. d  

9. a  

10. b  

11. d  

12. a  

13. c  

14. b  

15. c   


